I=res

(2)

oM I/Part I
/General Awaren

5 Pferfiaa # & PHA/E

ess

L =% (UDISEY) T fan 3R ﬂ%m g
2 ST Rt 3§ 4 05 ¢ 5 o A @8 | g
I @ﬁwm%ﬁzm,wiﬁr{%ﬁ” . ﬁmmmmﬁmm

?

L. UDISE+ $wittym & aqm ao 343 3 e T B |

HIEH 1 Amy e qu wd T
i3 = '
(1) T Ilaﬁtg—i?:%gwm o HIW&%
N WI;‘_@% (4) Wlﬁtllgﬁé :n System for
Which of the followi ng statements is/are correct about Unified Distnct Information SYS
Education+ (UDISE+) ?
ent of

I.  UDISE+ is one of the largest Management Information Systems initiated_ by the Departm
School Education and Literacy, Ministry omducation, Government of India.
II. The entire system is online and has been cbffecting data in rea

d for planning, optimizing resource allocation an

]-time since 2014 — 15.
d implementing

ITI. UDISE+ information is utilize
various education related programs and as8€ssing the progress.

Select the correct answer from the following : - |

(1) Only II and III are correct gb) Only I and III are correct

(3) OnlyIis correct ‘ (4) Only I and II are correct

TR e (S ), a9 S (sten), Jeteal (GEareE) o e gefert R
(PRABANDH) ferees 3icfa o7rar & 2 :

(1) T I fren AfEE (3N Y W )

(2)  weeR M fawm, R wHCH, WG SR

(3) wwy faam

(4) fao o™, Ra 9@R M

Project Appraisal, Budgeting, Achievements gd Data Handling System (PRABANDH) is under

\

(1) Rashtriya Uchchatar Shiks‘ha Abhiyan (Rlﬁ?y’{)

(2) Department of Higher Education, Ministry of Education, Gol

(3) Samagra Shiksha Mk
+:

(4) Ministry of Finance, Gol

3, frfufed 3§ & #9- w oug 2 2
(1) T 2) Hfewmm (3) #ifirm @) gy
Which of the following is a non-metal ?

(1) Sulphur (2) Calcium . (3) Magnesium () Aluminium
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- Who among the followmg was posthumously awardeq the

¥ I{WA~2023/05

(39
Frefern e e i & e o T T A §
L WG % HuM % oER, e T ) T gﬂﬁ,ﬁm&m?ﬁﬁg,
Lo 3 R & o, e i T
frfafad & @ adt 3o 1w A kid
(1) 19 IeH g8 § |
(2) 17d @, fhg 1T e B p
3) AdIFg R IAII |
4) 1%, g 7o R |
Consider the following statements : f 4 ' ofr ' Lo
I. gsbxﬁar thehCOnshtutmn of India, the numbb%of seats assigned t0 eag ‘- the States in the Rajya
abha is the same . '
II. As per the Constitution of India, seats arefaﬂocated in the Rajya Sabha, to both, States and the
Union Terrifories. LN
Select the correct answer from the following : ;_;
(1) Both I and II are correct.
(2) Iis wrong, but II is correct.
(3) Neither I nor II is correct.
(4) Iis correct, but II is wrong.
R ¥, mﬁm—aﬁmmmm@@ﬂ%ﬁwﬁﬁmé Iﬁﬁ%f@aﬁﬁaﬁ?ﬁ
HheddT 38 Ik ! TIE FHLdl 8 ? o)
W T w g B
(2) 3Idicita =nfies yurret ™
(3) =arfyes gfshaar ﬂ
(4) TR GHien ke
W
I‘cralll?;zdifé zc})lr‘icjel;ils.c;iza}ilz: :}I?iz I;zW:f- ’.:0 T Passed by the Parliament. Which of the
(1) Doctrine of ‘exception’ ' '
(2) Appellate Judicial System
(3) Judicial Activism
+(4) Judicial Review
ﬁmﬁf@aﬁﬁﬁw@mﬁqmm%amqqqﬁqmw
() morm g AR NN ﬁ"‘”wmn?
(3) Tgd W (4) Wtﬁ

Tsraroery

ep
(1) Mulayam Singh Yadav @ .. dmgy. .
4 © Bipjy R Vibhushan Award for 2023 ?

(3) Rahul Bajaj (4) Sp Awat

a]
asubrahmany i



: | (4) . i
HWA-2023/C5 ' W 2022 — 23 o IIfelR HA ; Sectftad, Frafefn § 3
T@HWW«@Wﬁ?va 3 2000 — 21 % wagw % ol § gig g @ & 2
e e o § 2015 - 16 T 2 bt :

()

(1)t 7§ & oy % o A A T DY
(2) e a§ & %7 oy ¥ sfeRRE @ A ™
@ ol a4 & T oy % st oo A TR
(@ o & T o it A R T

According to the National Family Health Survey, which of the fol} owing health indicators. has shown
an increase, in the survey results of 2019 — 21, compared to 2015 — 16, as per the Economic Survey of

India 2022 - 23 ?
(1) Children under 5 years who are underweight
(2) . Children under 5 years who are stunted

(3) - Children under 5 years who are 'overweiggg

(4) Under-five mortality rate (q}
Y T 8 QR I59” (Harbour Waves) 1 ?ﬁ_)ﬂ 9 " SE A R 2
(1. qBH (&) —(2) G
3) TS TEA (o) )
’ ‘Harbour waves’ are know.n as ,in Japan-esé'langﬁage.
(1) Hurricane (2)  Tsunami
(3) Typhoon (4) Cyclone

25 7€ ¥ 3 9, 2023 F mﬁrﬁa@aﬁé{@r{ﬁaﬁaﬁﬁwﬁﬁmﬁﬁaﬁﬁﬁﬁmﬁ{ﬁaﬁﬁﬁ
qaifers e § w@l g o 2 g : w
(1) g, Fies N@ - T% 717 <7 Ffafid, smae

EEICH feae 1Y) - '
(3) gfrafdd, M@ T Iafiid, Tdg
Among the following Universities, which Uniyersity won the highest number of gold medals in the
Khelo India University Games, held between May 25 to June 3,2023 ?

(1) Jain University, Karnataka (2)  Guru Nanak De\} University, Amritsar
(3) Punjabi University, Patiala (4) Panjab University, Chandigarh
SreFaTy uftada freare gEeies (CCPI) 2023 & frfafas & & 9.3 G20 <X H1 Wiy qag e @
27 |
(1) gfegor =ifen ; 2) w9
(8) ¥Id (4) =HATST

Among the following G20 countrieg which is the high ) _
. : ghest-performe Climz
Index (CCPI) 2023 ? : I in Climate Ch

(1) South Korea : (2)  Russia
(8) India , (4) Canada

ange Performance
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(5)
WTT 11/ Part IIAbilitY i fezm |

wh &T0dT / Reasoning W W
Th e T brafery A e R A1 e e o 7 ol T S & o
A 4 Fpft T e @ | Hﬁwﬂ g T
FRIfeE q g Rm AR ? < o AT
Wﬂsﬁ%\jw-@ ,Ez\i 5% <fa-3d
3) 4 Frh gfrorafrem 3" then turns towards East anq gy,

) - e, L : . .
A man drives 10 km in South direction from~his off¢ . How far and in which direction is he
4 km. From there, he turns towards North and:Hrives
from his office ? i South-West
(1) 5 km South-East , @ 3T gouth-East

(3) 4 km South-West 4 3 S 7 ot ¥ ain 1o
&Qmmﬁwéwﬁﬁmﬁaﬁﬁ,m%ﬁ%m%m 7 wrefieat

& < o # | 89 T st & S formefl @ i
ERE |
fareeff
m %

(1) 72,74,70 (2) 80,78,76 (3) 64,74,80 (4) 64,66, 62

In the given figure, 12% are those girls who are students too, 14% are students who are dancers too
and 16% girls are those who are dancers too. 8% are the girls who are both students and dancers.
What percentage are only girls, only students and only dancers ?

o

#15332963

Students
NAVANE:
8% |
Dancers Girlsg
M
M
N
(1) 72,74, 70 (2) 80,178,176 Q) gy
el [ 80,4 (4) 64, 66, 62
I e & fore g / SPW
_ : WORK
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14,

13.

— T, 7, e, Shem oiv faerd e 2, feeg e
ﬁﬁﬁA,B,c,PMﬁm%Wq@w|‘B’aﬁI‘E’aﬁﬁqﬂmaﬂIﬁmréwsﬁm

Egm;?g@fxgﬁﬂ;gmﬁgmaﬁwaaamﬁzmﬁﬁqa% D TR
| ‘A’

THE TE R | O w0 E R ? ) Res
T @ @@ D = , , - E' |

E have diﬂﬁ ﬂ.t hObbles — singing, dancing, painting, writing and
Five' frii)mis At, 'B,t}?, . a: ?)rder A’ and { like neither singing nor dancing. ‘B’ and ‘E’ do not have
SE\VIng, ut not 1n e sam 7

_ 1 th wing. Writilfglﬂn_d se\fving are not the hobbies of ‘A’. ‘D’ and ‘E’ are not
the hObble§ of painting and se'n ' does ifat like singing. What is the hobby of ‘C’ ?
interested in dancing and sewing: i

(1) Dancing (2) Writing e (3)  Sewing (4) Painting
i ' o el # i w2, e g 3 frewd 13 11 fig
?‘T’iﬁ%"lim u, e A 6 /R T s @ oo 2/2
YT - ]
1. M<O=N<E>Y ~
2. S>A>C=D>N

fAswy -
I. 0O<D
II. A>M

1) Fedi1sndAiaxd

(3) m@lﬁwﬁlmﬁﬁﬁéuwé

4) e fremd 1 oo B
In the following question, a relation'éhip ween different elements is shown in the statements,
followed by two conclusions I and II. Asq;%‘xning the statements to be true, decide which of the
conclusion(s) is/are definitely true. | . ' ,

Statements :
1. M<O=N<E>Y
2. S>A>2C=Dz=N

(2) %ﬁaﬁmllm%

2332963

RS SR o

Conclusions :
I. 0<D
II. A>M

(1) Both concluslionsvl and IT are tryq

2 Only conclusion II is true
(3) Either conclusion I or conclusjop is f‘é-‘lte (2) Yy

(4) Only conclusion I is true

— g
mm%ﬁm“’@ ﬁsmce FOR ROUGH WORK
Ly

7=
I
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16.

N | HWA-20923/05

C g AR A, g
a0, MRV &, 0w wm%aﬂ“F Bk
w2 7 . 4) T
(1) = 9) i
e (2) & (3) . ke dl ‘F’ is ‘K’s mother; then how jg
If ‘O’ is ‘M’s daughter; ‘N’ is ‘O's brother; ‘K’ is ‘N'S father i
related to ‘M’ ? iy (4)  Moth

0
(1) Mother-in-law (2)  Sister ""(r;) S ster- in-1aW .

-

:ﬁéwmhwéﬁfﬂ%qmaq,m I;Eh‘{ i W@ﬁmﬁgﬁaﬁqm% |ﬁﬁqﬁﬁ¢q
%Hﬁ:{m/ﬁwmﬂﬁﬁ'{éﬁ%ﬂuﬁm%/ﬁo

a®h gA/TAFR 2 .

HIT B
1. 2a+2b=4—2(a_b)
II. a+3b=2a-

(1) ﬁmlﬁllmmmmaﬁ%mmél

(@) TR I TR € e I 2 B fora e 2, s O 1 30l T 1 IW A % for v
TR |

3) maﬁmlmmwnaﬁﬁmwmiﬁ%ﬁfmm%l

4) Wlmﬁaﬁmwmaﬁ%%qqt@a% S Fo 11 3That 97 1 I 1 & fore vt
TR | &

Given below is a question followed by two gpqtements numbered I and II, each containing some
information. Decide which of the ‘statement(s}i¥are sufficient to answer the question.

What is the value of a ? ‘;:
Statements : |
. 2a+2=4-2(a—b) §

II. a+3b=2a-2

(1) Both statements I and I1 togethef are necessary to answer the question.

(2) Statement II alone is sufficient to answer the question, while statement I alone is not sufficient
to answer the question.

(3) - Either statement I alone or statement II alone is sufficient t, answer the question.

(4) Statement I alone is sufficient to answer@e question, while statement II alone is not sufficient

to answer the question. ¢))
X
b
& v < fere smre / if‘@ACE FOR ROUGH womK
N :
i

o
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HWA-2023/C5 B mem

17 9 0 e foar v @ forgds v @ 9 1 S L, FIF G ST Fe, faw g | g . B3
o6 .21/ o e v e 23 g A B/2 7 |

' 18.

A»BWCaﬁw@mgﬁzﬁmsﬁﬁﬁl B@ﬁH@W%?

T

L

II.
(1D
(2)

3)
4)

B, AR 1598 ST 2 |
C, 40 =1 ] |

AN e 13 11 363 we 1 I A S FeAefsieeEs € | |

HU 11 mﬁmaﬂmiﬁ%ﬁﬂmé,ﬁﬁmlmm'ﬂﬁ?%%mm
TR ‘ :
maﬁwmﬁémwnmmwméﬁ%ﬁﬂm% I

U 1 31ehel €l o 1 I 3 % fore wafea B, 9afh et 11 orhel R w3 2 % o v
wRl

15332596

M

Given below is a question followed by two stat@wn‘ts numbered I and II, each containing some
information. Decide which of the statement(s) is/ar¢ sufficient to answer the question.

The sum of ages of A, B and C is 65 years. What i@.r%’s age ?

Statements : . a
I. Bis 15 years younger than A, H
II. Cis 40 years old. '

(1)
(2)

3)
(4)

to answer the question,

Either statement I alone or statement II alone is sufficient to answer the question.

Statement I alone 1? sufficient o answer the Guestion, while statement II alone is not suffic®
to answer the question, h

N
\
v
T H & forg e / SPACE FOR ROUGH WORK
LA

.
3
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. - (9) S , .

150 RT3 o e e e L T

oS 31 7 50 o 8, o o LT
. oL

RTE SfUfrEm % mmece, siis o= onfl o el & dfd &

FTIaTE] 1 TS : iﬁ

I WﬁRTEW@WWgﬁ%%E'W@I

11. e w9 & dfa w01 F oman-fia @ @ & s el |

(1) 13 I12R S e

(2) <had 11 ST =78y |

(3) T IRAH I I =l |

&aﬁﬁlﬁaﬁﬂﬁﬁql f;} ’

In the question below is given a statement foflgwed by two courses of action, numbered I and II. It is

assumed that everything in the statement is{ttue. Then decide which of two given courses of action

logically follow(s) for pursuing. _ {ﬁ

Statement : ]

Despite the RTE Act, many children are still Jeprived of education.

Courses of action :
I. Government should ensure the enforcement of RTE Act.

II. Parents of educationally deprived children should be punished.
(1) Both I and II follow for pursuing.

(2) Only II follows for pursuing. -
(3) Neither I nor II follows for pursuing. (3
N

(4) Onlyl follows for pursuing. ) T
7] SR,
SPACE FO
s o &5 e e /1 R ROUGH woRk
4L




(10)

HWA-2023/C5 3 2
. e (A) 3R T (R) & w9 F guifan wn
19, ¥R 3 wom Ry # o IR

BT (A) :
qreIetid BIHT, M e S # |
Qﬁﬂ?ﬁ? (adrenalme)ﬂhd» C)

C.h
T R) : wmmﬁmm@mm(ﬁmﬁ—q)ﬁm%l
W T

H
() (AT R, wg (R) T R |
(&) 3R (R) it wEt &, TG (R), (A)ﬁ“@m?ﬁ% |
/

(3) (A)TE R, WY R)FHR| ‘
@) (A)aﬂtgn)a‘lﬁaﬁ%aﬂt(m,(A)?ﬁHﬁmél

Two statements are given below and they are la‘]%){%lled as Assertion (A) and Reason (R).
Assertion (A) : :

Adrenaline hormones are also called emergency“%!)rmones i

Reason (R) :

Adrenaline increases metabohsm of carbohydra S to provide 1nstant energy.

Select the correct answer with the help of the code
(1) (A) s true, but (R) is falge, 7

given below :

() Both (A) and (R) are trye, by S
(8) (A)is false, but (R) s grys -

(4) Both (A) and (R) are tﬁe o (I'{) i.‘ 3
8 the

correct explanation of (A).

™ _
m*ﬁ"ﬂm / SI{B:E FOR ROUGH WORK
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(11) HWA-2023/c5
feferfiad we 3 fraeh =g & e 1
: @ W, faftr e 3 s g -ﬁ,{mmqm%,_a 2k 1911 Ry m
E1s ii[ﬁm“'“a@,ﬁmﬁmﬁaﬁq@/aﬁﬁw 5“*’”‘ !

1.;.; .
ST

1. F<I<B2R<E : % St

2. L<O<F=2A>=T (09)

e gl

I. T<R +H:

II. L<B - | ‘
(1) Trerd 19 1139 gt 8 @) WMIIW%
@) = s 1A frend 11w 2 4) %aﬁﬁ‘a‘élm%

lements is shown in the statementg

In the following question, a relationship between different € _
: nts to be true, decide which of the

followed by two conclusions I and II. Assumiiig the statemeé

conclusion(s) is/are definitely true. gr:

. Statements : . e
1. F<I<B=R<E Ve ()
2. L<O<F=A=T ] {g
Conclusions : v

I. T<R ‘ H:

II. L<B . R
(1) Both conclusions I and II are true (2) Only conclusion II is true
(3) Either conclusion I or conclusion II is true "~ ,(4) Only conclusion I is true

21, TWHTER ATH @ A M F v wpe (Fwre) oo A S AR R, S 36 wH 5 W e |

-

Tret § 7 T 1 S A A S ge 2, o eEd & 8 vl g R | AT 3 A T g
gs?ﬁ%aﬁt1%#@%&%@3@@5@%@1’1%@@@%@@3:@@@
3 | 3aw! FETET 36 WA fhadl QR feahl SR R 2 2 A Al

(1) 4 forrt <forafzem ‘ %) 5 TRt zferyafeam

@3) 5l gferorgd D 4Fh g

Sonali drove her son to his school towards Sﬁoufﬂﬁ which is 5 km away from her house. From school,
she turned westward towards the market, which.is 8 kni_'aﬁ‘a.;y'frdxri school. After the market she
turned to her right and drove 1.km more and then.took.a right turn again and covered 11 km to
reach her office. How far and in which direction is her office from"h'e; l;(;uée"’?

() 4km South-West ' (2 5 km South-West
(3) 5km South-East @) 4km South.Ragt

\
% T4 & feTg e / SPACE FOR Roygy WORK
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HWA-2023/05 i aﬁmﬁﬁ& LEGERREIE m_ﬁ' ST 3 |
22, maﬁ@ﬁwﬁﬁﬁmsﬁmﬁ -

23.

24,

) 115 - ©

_ m -
@ Ln® @
(1) . 31
3)

‘ ' ionship between mothers
' _ t represents the relations etw s Womey
Identify the diagram that bes '

post-graduates.
M2
0 @
: h
- ™
: : (4)
s L Re D
> &) D

IH 93 W T Hifw, Gﬁmﬁz(?)ﬂﬁmﬁﬂﬁ Wﬁﬂé’iﬁmaﬁtﬁfm‘@!

A47U, B45R, E410, 7, Q271, Z17F
(1) J38E (2) H35L (3) J35L°

(4) H38E
Select the terrh that replaces the questmn mark (?) and completes the given series,
A47U, B45R, E410,?, Q27I Z17F :
(1) J38E 23 H35L ‘ .m (3 J35L  (4) H38E

wmmw%ﬁﬁq a‘rmﬁg(?)ﬁﬁmﬁaaﬁaﬁuﬁné TG H 0 Feft 7 |
5183968‘7150 ol

5, 18, 39, 68, 2, 150

M 115 @) 105 . @) 120 . @ 101
\ '
mm‘%ﬁm

g / SPACE FOR ROUGH WORK

| k|89 6elis0
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B (13) ST .
: i A AT, Py

25. mqaﬁP,Q;RgS,T’U,Vaﬂ'{Nmﬁmﬁ ﬁ@ ] Waﬁ.{

<l TR T A § l‘s:‘Nva;a‘@rfameﬁamma; g U IR gy

FARL: ‘Q’aﬁ“lf’a?q@ﬁ% | N, ‘P’%waﬁ;mwﬁ'ﬂwgaﬂt‘?’ Q1 Fehea g 4 |
1) S g 4 Vv
( @ N o) Q

g North. “T" is fourth to the left of .

Eight birds P, Q, R, S, T, U. V and P » SO
» U, Vand N are S'tt”(ﬂam aro ends, but are neighbours of‘Q’ A

‘S’ is fourth to the right of ‘N’. ‘R’ and ‘U’ are nét\itting at the :ohb fQ i
respectively- ‘N, iS next to the left of P and ‘P(‘—:l} the immediate nelg. our o Q , Who 18 Sittlng on

the extreme right ? L0 )
26. M SN, M, Q 3 P qo1 ¥R = A, B, C 3t D wh ﬁa%aﬁaﬂt@_@%m%@

§ 1 8 QT st @ g w43 § | o, SO T W TR ARy
SN F AT T A 2 | B, Q3 e o A 3 AN A ST R T W | op e
B T B T R 2

1 Q @ M 3 P
Four doctors N, M, Q and P and four nurses A, B, C and D are sitting around a circular table facing
each other. No two nurses or two doctors are sitting side by side- ‘P’, who is sitting between ‘D’ and
‘C, is facing ‘M’. ‘A’ is sitting between ‘M’ and\f¥’ and facing ‘C. ‘B’ is sitting to the right of ‘Q" and
third to the left of ‘N’. Who is sitting between ‘@nd ‘B’'? .

1) Q 2 M W)P" . @ N

97 e A+ B3R fF ‘B, AS U
A — BT 27 2 5 ‘A, Bl AT ?,

AxBHEI a2 fFABF AT,
& 78 arfireafs § P, s A ToRE TE HefHd @ 2
PxQ+R-S ‘ :
1) faan 2 W (3) ST g /W g @4 T

e
\If A + B means that ‘B is the wife of A’,
A — B means that ‘A is the mother of B,
A x B means that ‘A is the son of B’, O
then how is ‘P’ related to ‘S’ in the given expresgl\j'an ?
PxQ+R-S e

(1) Father (2) Brother m‘") Cousin (4) Son
o, S v oL

4 N

#15

7o @rd o feTC STE / SRACE FOR ROUGH woRk
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(14) E‘L
W
e 8 s e, Pk T e

TE 2, 9 98 g 99 5|
wamﬁmmaﬁmﬂ%/ﬁ“ﬁ

1. Eﬁma‘@ﬁ@a%l
2. a\ﬁmmﬁﬁﬁi
ey

I. mﬁmwﬁﬁmé'.
L Fo.-37=0 safs el
(1) fred 1 afk @A A € |
2 Fa« s nfwaael ,
@) a1 a Frewd [ Breed (e |-
(4) had frsed [ T £ |

Two statements are given followed by two%}mclusions, numbered I and II. Assuming that the

information given in the statements is true, évén if it seems at variance with commonly known facts,
decide which of the given conclusions log1ca11 llow(s) from the statements.

#15332963

Statements :

1. All teachers are good human beings,

#153

2. All teachers are honest people.- ‘
Conclusions : . 2
1. All honest people are teachers,
II.  Some good human beings are teachers,
(1) Both conclusions I and I follow.

(2) Only conclusion II followsg,

(3) Either conclusion I gp Conclugion I fol)
o @
(4) Only conclusion I follows, ;

S
Wm%ﬁqm f\f =

BPACE FOR ROUGH WORK
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(15)
PORPPIN. NN
e, ITTA, ATTLER 3i o § | i ﬂ'aséﬂ‘“i(q(
o 8 S o 2, AR R BT
(i) maﬁtmﬁ@mﬂqﬁ:\mmgﬁ%l‘

o s 8 T, e e o e A T T T
(1) 3 I T : '

@) ¥ 3 AIEN
3) d= 3 M

2963

(4) e IR AW

A combination of three fruits needs to be chos&%) The fruits must be chosen from seven fruits —
Banana, Apple, Custard Apple, Gooseberry, {ﬁneapple, Plum and Mango on the following
conditions : 4

() If Apple or Mango is chosen, the other one must also be chosen.
(ii) Custard Apple and Pineapple cannot be chosen together. ..
(iii) Either Custard Apple or Mango or both must be chosen.

ple is chosen, which of the following other two fruits must also be chosen ?

If Pineap

(1) Mango and Gooseberry

(2) Apple and Plum S '
(3) Apple and Mango a
(4) Banana and Mango m

—

S —

T @ o ferg 9E / spﬂﬁb FOR ROUGH WORK
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30. 9133w ey e @Iﬁaﬁm(A)aﬂtﬁ(R)%wﬁWW% |
3T (A) : kD
wwwﬁ_mmgmm%m
(8]
T&([R) : LA
=i
Fk

Arse fore w1 g @ |
H19 R e gz H wEEa @ q@ IT F T HifT

(1) (AT R, Tg (R) T R |

@ (A)3R (R) eI w& &, T (R), (A)ﬁaﬁmﬂa‘?%l

(3) (A)W% g (R) Tt § |
(@ @3 @ I E iR (R), (A)ﬁﬁ%&r@%l

Two statements are given below and they are %elled as Assertion (A) and Reason (R).
Assertion (A) : ' G.’-)

Graphite is used in designing of c'arbon paper.:;"

Reason (R) : 7 '

Graphite is a good conductor of electricity.

Select the correct answer with the help of the code given below :

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)isfalse, but (R)is true. 3

(4) Both (A) and (R) are true and (R) is corregexplanation of (A).
&N

T &4 & forg wmg / {ﬂace FOR ROUGH WORK
i
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¥ { ; i :
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(17) e
AT/ Part X1 e
. s 3n‘§.'{:ﬁ,ﬁ‘ T/ Rnowlodﬂ" of I .'.,39 29
ﬁ'ﬂﬁ:"ﬁaa ﬁ 'é ﬁq—m Uch f*hi}‘ﬁlq aa il ﬁfﬁt‘n
. — T M STV (web browser) ' o——
(1) _52'?-@—5 W}r{(lnu'rmq Bxplorer), fish i A
(2 LIES] vq;rqrﬁm (Mozilla Firefox) g
& QISQHEIHE QTR}H (Mircrosoft Access) '
(4) A —gcﬁ‘q (Google Chrome)s—
Which of the following is not an example of a popular web prowser ?
(1) Internet Explorer
(2) Mozilla Firefox
(3) Microsoft Access
(4) Google Chrome _ ' :
('v" \

. . - SR .
AUHT W TH G (MS Windows) Yriem i go fidaes TR a’ﬁ__i”:“ | F 3 IR el o
W’@%mmﬁmﬁa@m&%’ qfire Y G a2 0

= e = ] -
(1) Ctrl+C3R Ctrl+V ' %3; Alt +C 3TAL +V
(3) Ctrl+ V3 Ctrl + C @) Alt+V3IRAL+C
The most popular combination of ‘shortcut keys’ :ﬁf ‘copy’ some SelQCted text and ‘paste’ the same at
some other location in most of the MS Windows applications is :
(1) Ctrl+Cand Ctrl +V (2)  Alt+Cand Alt +V
(38) Ctrl+VandCtrl+C ' (4) Alt+VandAlt+C
o ST TeE % 100 THEI g Mo Fo whensit § S B T SR P GG T F e o
@“ﬁ%mmﬁ@wg@mmmmamm
THR § Qg Hatties gk Ri.2 7 A § ‘
(1) TEE Hifi=R (Adobe Premiere) (@) :
(2) TS GhHIEE (Adobe Acrobat) B m .
(3) TUH UH qrat@ize (MS PowerPoint) ™ :
Ly
4 T TE TFEd (MS Excel) el 0, B R
Which of the following software is'generally preférired most, to create a tabular sheet to store marks
scored by 100 students of a boarding house in the last few examinations for some basic statistical
and graphical analysis ? : e
(1) Adobe Premiere .
" (2) Adobe Acrobat
(3) MS PowerPoint
(4) MS Excel ™ :
el it et B T TS PR AT 'E":”%@%“ LR R
i Od . \ ;
D .pdf @1 dard file rrf ‘-vav‘ (4) Jrs
Which of the following is one of the stancarTie BRIENSIons of an jmage o 9
() pdf (2) .doc @ way ) _
s (4) Jpg
. ; ‘i
) { \
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35. mﬁ@w[ (2 U\ TETE (MS Word)
(1) T TH T (MS Access). - (4) TH U@ TS (MS Excel)

(3) UH Uy fier (MS Windows) e
Which of the following is a popular examPple of an Operating System
X } ‘ (2) MS Word

(1) MS Access
(3) MS Windows

-

(4) MS Excel

36. TR ) W §, ROMFTARE ¢ .
(1) Random Optional Memory .
(2) Read Oriented Memory Ees
(3) Random Object Memory
\((4) Read Only Memory

#15332963

In computer terminoidg.y,“Ri(‘)'ﬂf_:;‘tﬁ“lﬁdé.'for :
(1) Random Optionai Memory :

(2) Read Oriented Memory | W

(3) Random Object Memory '~

(4)  Read Only Memory

| R oo N R
37. wwm(malwme).%ﬁ@mgmwéuaﬁtmﬁqq%mﬁmﬁ‘&m
mm@iﬁ@mmw_gmmaﬁﬁ#ﬁam@maﬁmm‘fw

3) TR (Spyware)

‘ (@ 9 (Spam)
This is a type of malware th L, |

; at w —
useful app, but usually tajo, € download onto our Smartphones, disguised as a legitimate &

conty :
other harmful action on gy ; ol of our smartphones to damage, steal or in general inflict som

ata ]
(1) Adware ‘Secumy_
(3) Spyware e : (2) ' Trojan
: ' T (4)  Spam
. . : : ap) p
38, Wﬁ-ﬁaﬁqm@ G ‘
94 AT (Plotter) : TET & 9
- @) ﬁ?{ (Scannef) 4 '_ t"(2) HIEH (Mike)
" Which of the following’ié "Otan S0, 4 TR 9T (Light Pen)
(1) Plotter - 1Mut devicai?:t* PR eC
3) Scanner R
e : - (2) Mike

(4)  Light Pen
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(19) ST 27

Ecﬂ ﬁﬂ%ﬁgﬁﬁﬁﬂ?m@maﬂwwﬂ )

) 1§ _(Yahoo) 0‘\\,(-2) Q"faﬂ (.“A‘:‘:esS

)y T Book'e m @ ﬁﬂ (Biﬂg) ' ;ch engine ?

Which of the following is not an example of xﬂ })\mulnr web bﬂged i

(1) Yahoo 1 (2)  Access

(3) Google " Bing

40.

41.

42,

el #, DVD &1 [0 M 2

i isc

(3) Dual Versatile Disc (4) Dual video I?iéc
In computers, DVD stands for : A ‘ ‘
(1) Digital Voice Disc (") (2) - Digital Versatile Disc
(3) Dual Versatile Disc ' . § (4) Dua;l Video DiSC

Yo s TR S WA T mm@wﬁﬁﬂmmw“*@ﬁ%
am%m # ¥ g Hatts st feea S % 20 -
@ YETETEE (MS PowerPoint) h it
(2) TH TH THA (MS Excel) | |
Q@ﬁ @ai (Adobe Acrobat). s i
(4) TH TH T (MS Access) s

Which of the following s‘oftware‘is generally preferred most, to create an animated multimedia
presentation on the topic ‘Health and Hygiene in a Boarding House’ ? -

(1) MS PowerPoint

. (o]
(2) MS Excel g
(3) Adobe Acrobat N
(4) MS Access a
@jﬁtj Y 3 ST B (a"_\‘*’ fﬁ"'ﬂ 3‘3‘@'3“ Wﬁ) % iy, faeed & U
EmﬁqﬁH Frerferan s 3 & Army “ﬂfﬁﬁmwﬁm%@!ﬁﬁ?’
1) WA (MS Access) 2 WwWad (Mg w
‘ d
(3) TS Hifraw (Adobe Premiere) \6 eh (Tally) &

Which of the following software is generally preferred most, tq

w . . . al
of the school, with some pasic text and paragraph fOrmat,tmg b Tite g House Report to the Princip

old, italics, underline; ete.) ?
(1) MS Access 2) Ms Word e i

() Adobe Premiere : (4) Tally




(20)

HWA-2023/c5
43, jﬁjtagwmwﬁﬁﬂw (2) T IIYE ITH
1 Tiehe ITHl
A (g} Th §19¢ TR0
3 TH Jeafdn IO } 1 U}
What is a Router in a computer 5¥' gl L

#2 An output device

1 A calculating device [ 4) An input device

(3) A networking device

e ﬁ%ﬁﬁW@(EmadﬁD)?ﬁﬁm%7
O 37 siF Refirgm) e $He 3T A
D) I _ sty arel i AR S A
3) IF @ Qe-fie wg) AR A A0S -
(4) I . (SFew) e P I & |
Which of the following cannot be avalid Email ID ?
(1) An Email ID having multiple numbers (digifs)
(2)  An Email ID having multiple _ (underscoré)é‘g
(3)  An Email ID having multiple @ (at-the-rate &ign)

(4) An Email ID having multiple (dots) ﬁﬁ ~ o ;
45. % B0 40 9 Frée il 31 T (share) oy R T BT (switch) 3R 9 39 3 1
Ewﬁaﬁmmﬁﬁqﬁm [ SIicE I oo i e oep———
s gy NG S i

(D T T (LAN)

(2) WU (MAN)
(3) W T (PAN)

(4 S=Y T T (WAN)

(1) LAN
(3) PAN E,Q) xiNN
ff@f =
46. ﬁﬂﬁfﬁaﬁ %(Cloud Copw‘gutmg)mwm TR 2
(1) Hmﬁﬁmmqmm £ '
(2) ﬁﬁa%ﬁﬁ@ﬁmmm {ﬁ
(3) éaﬁz(mﬁza%)ﬁﬁmaqiw ]
(@) aﬁmmm‘ﬁlﬁmﬁa 0T B

Which of the followmg i8 ng of s , 31THT;[ %

an
(1) Real-time accessibj)jg,; ¥ fro d"antage of Cloud Computmg ?

(2) Improved COllaboratmn b YWhere re and everywhere

(3) Does not depend op Intep, tontributors
(4) Backup and restorg g, ata | n@twork) connectivity
\*

—~— eaSy —
P

y |

_’i
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48.

o HWA-2023/c5
SIS <hl PP Ty 3 g
| QST (AD 1 Sl g # :
(1 rtificial Intelligence
(2) Absolute Intelligence M
(3) Augmented Intelligence D
(4) Abstract Intelligence (@”«l
~
In modern day computer terminology, Al pob?jlarly stands for *
(1) Artificial Intelligence | .
b e |
(2) Absolute Intelligence -
(3) Augmented Intelligence
(4) Abstract Intelligence
ﬁ"-'-'{%f\@ﬂ A | HH- /‘ﬂ{?{lé_ﬂﬁﬁ'ﬂ (e- governance) i@-————* il

et L

(1) YNdH™ &g Efgdr (Indian Penal Code)
(2) TaHg Ity (Governance Act)

A3 18 &Y (Temee) srfufm, 2008 AT (é&* adment)

49,

50,

(4) 3 & ARafEm, 2000 (IT Act, 2000) N

Which of the following Acts provides initial 1€ gal ﬁ'amework for e- Govemance in India ?
(1) Indian Penal Code s
(2) Governance Act W
(3) IT (Amendment) Act, 2008

(4) 1IT Act, 2000

R
-~

frofafeg § & HH-81 & WEEd (anuvxrus)zrmﬂmmwﬁwm T 22

(1) AR (McAfee) (2) ¢ (Norton).

(3) FEIEHTS (Kaspersky) . @) ef (Tally)

Which of the following is not a popular example of an antivirus software brand ?

(1) McAfee , g (2) Norton

(8) Kaspersky (Qq') (4)  Tally

R g (g IR 8 T FE ) mewm@mﬁﬂ%ﬁaﬁﬂﬁ
HH-TT R 7 .

(1) GB<MB<KB 4#,\;2) KB<MB<G,13

(3) GB<KB<MB ; 4) MB<KB<GB

Which of the following is the correct ascending order of Memory u torage capacity
(smallest comes first) ? nit as per the

(1) GB<MB<KB ' iy KB<MB<GB

(3) GB<KB<MB 55 @ MB<xp_gp
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9T IV /Part IV
POCSO quT 314 aaii 1 HI&T § Hafira Wi @i srfafaam &1 9=

Knowledge of POCSO and other children safety related Acts of Government of India
51.  F=fafad st w fam Hif
(&) T am (wfody o fafae) arfufiam, @asmmﬁﬁmﬁ%ﬁ?ﬁmaﬁgﬁﬁ-

HT 2R |
(B) aﬁm%mmﬁmm%aaﬂawm%mwel

A9 g e e & & W s o A A L0

@O @ 3R (B) I wE dp (AT B, A (B) T R
3) A (A)TE R 3 TH B) (4 (ATH R, AR (B) TeE B

Consider the following statements :

(A) The Child Labour (Prohibition and Regulatlon) Act 1986 prohibits the engagement of childrer
only in certain employments.

(B) An occupation connected with automobile workshop and garages is prohibited for childrer

under the Act.
Choose the correct answer from the codes given below : :
(1) Both (A) and (B) are correct . ‘q%) (A) is wrong, but (B) is correct
(3) Neither (A) nor (B) is correct L(g,) (A) is correct, but (B) is wrong

52. TN STYUHT § STeTsh] &1 TLE (POCSO)ﬁwrﬁﬁ‘r 2020 % 3Favia o fores 4 2 2

¢)) ﬁwnmﬁmqmﬁwﬁfmﬁéﬂﬁ :

(2) UrFEl (POCSO) i & 3iaid fa=mo iﬁmﬁﬁvw T guh srfereer

(3) oA weA G g Ay =t e | |

(4) ¥ fan weEdht B vy

Under The Protection of Children from Sexual Offences (POCSO) Rules, 2020, who is a ‘special

b %

educator’ ?

(1) A person trained in communication with children with disabilities

(2) The liaison officer in the special court for trials under the POCSO Act
(3) The person assigned by the Child Welfare Committee

4) A special trainee on sex education

53. ﬁﬁ*mmﬂwmaﬁ:ﬁ% 2012 % ¥y § 7o77 Fo 6 vgEE i |
(1) e sHfafRm A A sy e S Qe @ i T8 2 |
(2) G fuiam e AT A gy o @R
(3) v fufan ok fdy g 4 0
(4) H=EI (POCSO) Nﬁlﬁ'qn%r[mq-@% v

Identify the incorrect statement
(POCSO) Act, 2012,

(1) 'The definition of sexual offence in PQ
(2) POCSO Act provides every child, the
(8) POCSO Act is a special law,

(4) POCSO Act is not gender neutrg],

with regard to*'The Protection of Children from Sexual Offences

CSO Act is not limited to penetrative sexual assault.
right to be heard. )
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56.

3) ¥ad (A),B) D

HWA-2023
. C5
frefatead ®emi w fgar Hift

@ 8 fafa (deivm) sifufrm, o
013%%}
%ﬁﬁfﬂ%ﬁﬁmﬁﬁgmqﬁ

) R e w1 g
Wuqﬁmﬁw lamuzﬁma‘ﬁﬂ?ﬁmﬁm

2 o T e § A w39 w999 A
(1) (&) 3R (B) AT Tl # ' (2)km£3 7 & afFT (B) TEI B
@ A A ER R TG (B) »MI@J(A)' Sftr (B) T &

Consider the following statements : M

(A) The Criminal Law (Amendment) Act, 2013 magg amen

(B) It amended the offence of ‘Trafficking of Persor O mea
victim will not be considered an offence. r}

dments t0 the Indian Penal Code.
. that trafﬁckmg with the consent of the

Choose the correct answer from the codes given below :
(1) Both (A) and (B) are correct @ (A)is wrong, but (B) is correct
(3) Neither (A), nor (B) is correct ) (A)is correct, but (B) is wrong

ﬁmwmﬁuﬁm zoosﬁw%ﬁaaﬁamas/mﬂm??
) U T AT FTE I 5
(B) =% ST SATURR &0l 3TN '

() el <T@ SRR ERET AR fB

_(D) a1l e £

ﬁﬁwgﬁﬁaﬁmwwﬁm m B

(1) Fad (A), (B) I (C) : "u?,aﬁa(A)aﬂt(B)
(@*“"'W(A)@T(C)

The Commissions for Protection of Child Rights A

the following ?
(A) National Commission for Protection of Child Rights

(B) State Commission for Protection of Child Rights
(C) District Commission for Protection of Child Rights

(D) Children’s Courts
Choose the correct answer
(1) (A), (B)and (C) only:
(3) (A), (B)and (D) only

st gfaw &

m%mn@um&(wwwﬁ ¢ Jzooaaﬁﬁqmw/

dois & e ——

Wwv
a7 aum fan shEE gz)lnmaﬁma@
(4)”?‘3@@@ 3T TEE

cl{ 2005 provides for the constitution of which of

from the codes given below :
(2) _(A)and (B) only

(4){8 (A) and (C) only

(3) & 3fen
The National Charter for Children, 2003 was announced in accordance with the pledg® in which o
the following ? @ '
ha Abhiyan ) Su
(1) Samagra Shiksha y " stainable Development Goals

(3) Teach India Mission National Agenda of Governance
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HWA-2023/C5 % AR 2020 & wra § gy R FEHIREE # & fy oy
Tor waiften o 2 @JZ) T e T
g; ,mﬁiﬁwm%a Q) @ frg e

59.

60‘

. U QR Al S EEALR 9
y::;immwam%m%wﬁﬁm%wmﬁmaﬁﬁmﬁ
, any

s thefhlghest for which of the following indicatorg
The mortality rate in India in 2020 wa (“g 88 per y

Economic Survey of India, 2022~ lf: A e
(1) Mortality Rate under 5 Years WY,

(8) Early Neonatal Mortality Rat® @ Infant Mortality Rate
y Neon

) % ITER WRd § S0 % T T sigum e o
T TRER @y 2019-21 ‘
néam_(_,g.s/l)— (3) 940 - @ 927

A(‘\lc)cox?cf‘ . to th Nationéx('i2 )FamﬂY Health Survey (2019 - 21) in India, what was the ge ratjo
ing to the '

i 9 i . .

(blf;‘th 935 @ %81 (3) 940 (4) 927

Ryew 3k sfard e R &1 AR AR, 2009%ééuﬁﬁm%1fiaaﬁﬁaﬁq.mwa
5

(A; T FE AR it eEhE WS o Yeh I At e 1y o
o«B) SR § amifis A A o 1 A % 6 % 1 e 3 w9 & afonfiq et 3
(©) ¥ st 3 siwta 63 147 F S A e e 3
ﬁ%ﬁqwgﬁﬁaﬁmmwﬁﬁq:ﬂ

() @@ (@ T A)MAEL @) Faw () 4) 3 (A)

|\
Which of the following statements is correct regarding The Right of Children to Free an
Compulsory Education Act, 2009 ?

(A) The law provides for free and compulsory education for elementary and secondary stage.
(B) Elementary education is defined in the Act as education for class 1 to class 6.
(C) The age group covered by thig Act is between 6 to 14 years,

O Dol B)anly” T ind (C) anly 3  (C)only (4) (A) only

q’[ ﬁ e
By whom can a petitiop for ﬁ‘q'rg EW RIS Eare %

Prohibition of Child Marriage Act 2
(1) By any socially Conscigy 24008 7

: ivi : chil
marriage - Mdividua] who has information about a contract being &
(2) By either of the Contragtj, !

(3) By the Station Hoyg, Oﬂicg Party to the marriage, who was a child at the time of marri;‘ g;nize
(4) Only by the minor Womay ., . 10) of the jurisdiction where the child marriage was s0'¢
' A O34 Contracting party to the marriage

—_—
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T V/Part Vv itude
h M/Admlnlstrntlvc Apt

ot ZETEL 1 T S i ) i
() FESAR @ H v wg

(3) ﬁT&ﬂaﬁaaTaTaq-[ :
BIEC
Pl W%WWWWWWHWW

Whicl >
ich one of the following is the main objective of Hostels ?

(1) To give relief to parents ' ™M

(2) To take care of weaker sections 0

(3) To promote education e -

(4) To provide students a peaceful and congengﬁenwronment & pursue e
i _m_maﬁ%émmm%?' ﬂ

(1) TuTEl GAE g |
@ m%ﬁ@ﬁwﬁaﬁﬁmmﬁﬁxﬁ
(3) mgquﬁﬁaﬁm
@) ST IR (F1) TaE A WU

How can one improve Hostel Admm1strat10n i

(i) By effective supervision

(2) By regular feedback from Hostel students .‘:\ﬂi involving them in d’ecision-making

(3) By discipline committees ¥
(4) By providing adequate funds ™M
o™
LN .
63, THEE e HRITHER? = ,
(1) wmﬁwaﬁtwm\/ H9) g HEHN I AfeATd TS § -
@ P dE (@ T O W AR odl 8

What is the advantage of Hostel life ? :
(1) Socialisation and mdependent behaviour (2) Itis Government pblicy matter

(3) Lack of privacy (4) It provides freedom to students

) iferer T § -8 g 3T maﬁar%w’

(1) T =g Tl
(2 n%waléqzﬁsuaw%ma-mermﬁw%

(4) TR affd LN

What safety measures are to be adop

(1) Closure of gates

(2) Provision of Lady Warde
. (3)" Regular counselling for gir

(4) Discipline Committee

R o |
ted in a Gilg’ Hostel ?

n along with strict vigilance
] students




‘ (26)
(1) W&Eﬁﬁu{ﬁﬁﬂiﬂmﬂ N
(2) wmﬁ@ﬁm@ﬁm

(8) HeATEYw W g i I |
G Ty 3 e o EEE LG F % ferg Boft gl @ gen w3

In case of short-circuit in a Hostel i eh ey o
(1) Has to wait for approval from higher authority

(2) Can only call an empanelled electrician

(3)  Will abscond from the scene - F:
(4) Can even call a private electrician to rectify the problem on priority

66.  Mafis; ey w3y e e R ?

(1) mmwawmmmﬁgﬁmsﬂraﬁzﬁwé
(2) IT=S1 B & : ;

HWA-2023/c5

mergency conditions, the Warden : °

3) TSl AY-HEAR A o i;f
¢ FafmwswdasEs 2:}

. What should the modern Hostel room be hke(?"
(1) Should be equipped with LAN facility and«jlnternet along with hygiene
(2) Good furniture .
(3) Good ventilation ) :ﬁ
(4) Regular cleaning

67. _WWH@WW%?
(1)

Lg), mﬁgmmaﬂxmw.‘ o
(4) ﬁ“ﬂﬁm(?ﬁw mwma:’qﬁ_’m

 What is the main ob_]ectlve of Hostel Megs 2 gﬂ)

(1) Cleanliness 1,

(2) To provide hygienic and bals . "
(3) Well furnished ficed diet tO&be students

(4) To utilise mess funds Properl, k

> wqmgm%%mmmmmw@wmml
(3) ; :

(2). i wffy fram g

Name the ‘document’ normg)) 4 orEw Frm giead

Y u
(1) Mess Guide sed for gui dlﬂa overall cleanliness in the Hostel.
(3) Sanitary Guide : . Oh (@ Mess Committee Rule Book
{N\Jﬁ (4) Hostel Rule Book

oM
D)
Ao

+:

e



- TSRS T B

& Hwa
W ;
é:.:\ frfafEd 1 A 4y g, . S (27) 023/,
- AT FHng) wgra -t
SURSLRRIE S ‘ gﬂhiﬁﬁlﬂii:mm
— ; (4 m .
(3 ,‘jm']ﬂtﬂ Wy (2) ot
vl \ @ @ gl

S
Which one of the { o
e follow MEas a part of Hostel room inventory 7

(1) Wi-Fi control
. @) Ceiling 2"
(3) Library books ) C c1rv cgmcr“

-, O RS SR w am g
(1) ©HuU g ey
@ i Yo s s
(3) OTEEE ¥ TN SqE v

ymww,ﬁmm

The role of Mess Committee in the Hostel is :

#%53329_63

(1) overall supervision
(2) to conduct regular meetings
(3) to maintain discipline in Hostel

(4) to provide hygienic and cost-effective diet

(1) o afEfa \O o) prmad aed

@) argemEs |ffd A @

Who is incharge of general upkeep and sanitamn of Hostels ?
(1) Executive Committee "#" (2) Hostel Warden
(3) Discipline Committee (4) Mess Committee

7. ;;W(GFR)W FEY 8 ¢

. 3
(4) oEmEmE § AEFAE sl
General Financial Rules (GFR) deals with :
oved de

(1) Procurement of items from appr

(2) Mess rules

(3) Sanitation in the Ho
mmes in

stel

#15332963

Hostel
(4) Cultural progra e

a7
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IR wEmEr A FEE ﬁﬁg’?
(1) 9&5 (R wigen ?ﬂ'-ﬁ
(3) T THIv
Who should be the Warden {0

(1) Both male and female
(3) Male only

- Girls’ Hostel ?

74,) BEEE | FHE-gE ? <1 ST BT

B TERE YEeE
@) =mE g 3 S T

What is the purpose of Wnt i

(1) Administrative purpose
(3) To prevent loss and theft

75. mﬁﬁﬂmﬁﬁw@m?

(1) gEifea et & wlggr
(3) ITgAifed s @ @lieqd F

Which one of the following ﬁurchases should be avoided in a Hostel ?

(1) Purchase from approved dealers
(3) Purchase from approved budget

76. THEEE I YHH $IH EELR ?
G mmaaﬁ%/qﬂ%m

(3) g A=
Who is incharge of a Hostel ?

(1) Hostel Supervisor
(3) Mess Secretary

2
4 @EW ftreRtl W@E T
(2) Female only m
(4) At the discretion of qgmpetent authonty
g 4.‘:
(@ w0 $ Al
@) orEn-aEn Fel EEen
’ tHe Hostel ?
'(2) Budget preparation
(4) Audit requirement
0 p)
: 0
(2 S T AR JEUH ‘93
(4 TS gttt m
(Vg
: (2) GFR provisions g
' (4) Piecemeal purchases
(2) paufd
(4) A
(2)  Vice-Chancellor
(4) Warden '

—

)
(3) uﬁ%m&wﬁ?ﬂémaﬁmw

#15332963

Which one of the following i the . essenti
(1) The administration shoulg Provide a nop
(2) Good quality food

(3) Providing Wi-Fi in every i

“) Proyiding good library jp the Hoste]

< e

al in the Hostel life ?

-threatening and conducive environment
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78, ST | Frvtiaen ) wEnea 4 g R A 7
(1) I faRwe gr fafiva sEa wet

\6) 38 BEEE A 98 Pareat

3) T I I 0
(4) S IURA F WeAy Y rO\\,

How can one address teenage problems in Hﬁgels ?
(1) Regular counselling by professional expéfts
(2) By expelling them from the Hostel ;;

(3) Give full freedom ;

(4) Through strict discipline '

(1) JEhrerl iRl Y (2) . IS Sia

(3) WUE W@ @ wdaem A wH
-

What could be a common problem in Hostels 8,., »

(1) Lack of library books WO (2) Boring life

(3) Poor maintenance : g} (4) Lack of supervision
80. BEEE YU # Wi TR m ,

1) SHEEE w8 E o~ (2) Fafed JsEd

Q8 e ® waw 4y MmeEsE
Hostel management does not include : :
(1) Hostel room allotment (2) Furnished bedroom

(3) School admissions (4) Mess allotment -

81, orETE g f i ST HO1 ST o8 I § 2

) T TEEE (2 v o ) !
(3 ared | {’3(4) TR
ss ?

Who is authorised to receive stock in Hostel
(0 (2) Student incharge

(1) Mess Manager , M,

(3) - Warden ' L (4 Principal
82, pHmEm wewd # fefafed

(1) Bd F 9@l

(3) I UE

Which one of the following is a ‘consumable’ item in Hostel management ?
(1) Ceiling fan (2)  Cooking gag

(3) Notice Board (4)  Furniture
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2 ?
3. ram § wan a: ’@/ﬂmﬂﬂ
Mﬁﬁm
(2) o=/ & m—ﬁﬁ‘
® ot /00
(4) i ugha

What should be the criteri2 for ¢ Hostel admlsmom
(1) As per approved Hostel admission g“‘dEII%
(2) By date of birth of student Q
(3) Only outstation students LN
(4) By lottery system ;:

84. o i @ ard 9 & o e o fRuf A, T T AR

a qurﬁ:a?rﬁﬁﬂiqﬁﬁﬁmm
@) s - fr & g w0
(3) HIHS Hhi IFCE! F
M
In case the Hosteler is seriously 1ll the duty of thrg Warden is :
(1) To wait for permission from the competent gthonty

(2) Informing his/her parents g
(3) To ignore the issue m
(4) To shift the Hosteler mmedlately to the ne;;:est Hospital
(85) g # S WMEW ?
(1) dftEafd st o @ 98 TR
T (5 @ I o IS
What type of stock registers are normally mamtalned in the Hostels ?
(1) Asset Register (2) Tree Register 4
.(3) Costi g% @ Consumable and non-consumable

g SRS
(3) are ﬁ’ e A
BE|
Who fixes the food meny j, the H H)
oste] ? 3%

(1) Mess Commlttee I
(2) Mess Secretary

(3) Warden
(4) Student leader
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P‘&
g7. OPER H Fefafia 3 4w wg Qw2
(1) ﬁa | e
T & ammen 4) ™
Which one of the following is a ‘non-consumable’ item in the Hostel 7
(1) 0il (2) Refrigerator

(3) Wheat flour (4) Gas

88. mﬁm%ﬁﬁmmﬁammﬁﬁﬁmmm%?
(1) DEEE HiHf % @-fes w
(2) IS STAET Yob T Hh
(3 e uh fany Aoft & orll R arwifed H
\/‘ufﬁrﬂz%aﬂwmaﬁhﬁm?ﬁﬁam

How can one handle large number of st.ﬁlients in Hostel admissions - vy

. (1) Hostel Comrmttee, at its dlscretlog
(2) By charging excess Hostel fees (‘2
(3) By allotting only a particular cat@ry of students
(4) By restricting the number of studénts based on merit

89. OHEM F BT /ST ﬁ&g@_@mﬂ fopm YR fider S a2 ?
(1) _aar-fen & ary frafia e 5 v |
(2) T THEET H . 5
(3) iR ferdra g i EEfc B L _ :
(1_4) HeT ITTAEA AR Hh %
How can one handle indiscipline amonﬁ‘lostel students ?

(1) Regular interaction with parents rfg

(2) Effective supervision Lf")
(3) Regular counselling by profesmonzﬂ experts

(4) Enforcement of strict discipline

90, TEEE H TE-TE w6 1 gifall 61 P Fi R o
(1) U (2 il B
(4) w4 afmfq

(3) TEIF dTeA
|

Who monitors the attendance of housekCeping staff in the Hostel ?

(1) Principal (2)  Student incharge

(3) Assistant Warden " (4) -~ Mess Committee

#1533296
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Part VI
Langusé® Competency Test (General English)

rd.
ning to the given Wo
% Choose the word nearest in me8

Intercede Negotiate  (3) Infiltrate e )

(1) Reconcile @ . Iﬂtewe%
92, (no l site in meaning to the given word.
' -100s 7Or" 0
T o @ Lanky (3 Stalwart @ py
I g . . X
93. Identlfy the correct form of the T;'nse in :}ye’gwin :{sentence.
- the office yesterda : Sat
(\:’)hv S;(i? ;::fl;;:’;z;ze in E (2) Past Continuous Tense
(3) Past Perfect Continuous Tense m _(4) Simple Past Tense
94.  Fill in the blank with the CO’TECt prep OSlt]gp?
The group of actors drove__— the forestht high speed. ;
P ——— — P—'—-_-‘ . ‘*,
(1) through () in J3)  over @ at
95. Choose the correct meaning of the underlined idiom. .
The speaker broke down in the middle of his speech.
(1) looked at the audience *(2) failed to speak
; (3) broke the mike (4 stopped midway
63 Change the given sentence from Active Vq:ipg to Passive Voice. " "
The batsman hit the ball foragix. O
(1) The ball was hit for a six by rthe bats )
(2) The ball had been hit for a six by the hgtsman., )
- (3) For a six the ball was hit by the batsfifan. 2 &
\(4) The ball was being hit for a six by thé‘r@fatsman
97. In the following sentence, identify the parfhwhlch -contains an error.
Th_g_\y_ayfarer / enquired from me /where /1 hved
a T D ¢ d—
(1) c s (@) 3 d Ptk e (4) 0 a

98. Choose the correct Article, .-

l}onest politician is g rarity these days. .
Bl @ A {3 (3) Any (4) The
99. Choose the correct form of the verb to

go v@tb the subject.
On the. day of the departure every one of irp boat's crew down with fever.

\ywm . (2) e (3) has been (4) were
100. Rearrange the parts ip e LM ,
A. tothe nearb?,’{ﬁ,gle
B. Isaw ayoung shepherg
C. inthe early dawy
D. herding the catt]o

(1) D,C,B,A

€ct order to makd a meaningful sentence.

r——

D
; B, A, C
(2) A, B, C, D (3) C,B, D, A y
% ~n
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1t vi

\)

wirat e witior (amea )

: () meg;m&’?ﬁfl’-‘
ﬁﬂﬁmmw‘%wwwaﬂr{ﬁwﬂum _ 103 & &

Fo 3 8 3 a3 g o o) 8, oy s oo AL 37 ot
8T | TR ) Y Siro — viow, 7 b swrarg @ a3 i 0 A Frem
SRR e p—— [T W A, ET§ A7 3
e 3 I T R e i e B | s S e @ e A 6 - T A

WA
T & T Wl A oo s ) o ) i e o 00T TR

101. itk N [T NI § -
(1) Fad I

%)
(2) s foan g
B WIS, 96 3R aram. ??{
@ Fadww Y
102.ngaammﬁt%aﬁmt@gmg?¥g | o)
) fomm g wew (@ e B R

(3) s ynfq
, &) T R

103. AT N it i i = fo §

(1) e e @ A T

&iﬁm@,wsﬂuﬁﬁ% (n @ EE Y
104, Frfirfiaa 3 & Bem g owma 2 2 '

(1) Wi - qegey g

(2) WHYUR - g TUH

(3) T — FHHIE THH

(4) TN I — FHYRT FHE

#1533298

105. friferfiga # & =ivm wfu aren weg 767 3 -
(1) =mfiy
2) frmw
(3) 3ra
~4) TN
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i
106, fmfafad 01

(N 3‘1{{“5

gfi "

108. SFil W

\/D/mﬁ%gsmhwaw

2)
(3) e o AR

V]
4) a7qy TR W FAr

109. ﬁwfﬁf@ﬁﬁﬁmﬁmﬂ.ﬁmsé o

11o.ﬁmﬁﬂiaaﬁﬂ;aﬁquﬁ%:,
(1) W
(2) il
(3) I
4) aﬁa_1/

#15332963
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T V1 IP{‘ut V1 On'll Language)
qT T E T qt chl .
&[ Ul (&\‘5“5 “lql) I Lﬂ]lgllﬂgﬁ C()l“l)l.‘tc“cy (

i & = R o i 8, |
Wg%mﬁmm(Wﬁwulﬁmo)u‘é%agﬁhwzﬁmﬂm& A,

fom oft, Mﬁ%mwﬁmmwmm%ﬁﬁqmﬁw(mmul
ﬁmow)%maﬁmﬁmwﬂm%aﬂqe}@mﬁqﬁaﬁqzﬁﬂ“ﬁ“@%'“ﬁmzﬁ

%ﬁméﬁwwﬁmmww%’ﬁmmw (OMRSheet)?l"?fT!\_E:rl_"'"_'{:r&Ft
fera s |

The booklet has 10 questions (from serjal g@ 111 to 120) of Language Competency of

each Regional Language, however, candiﬁi!}tes should attempt the questions (from

serial no. 111 to 120) of Regional Lang‘uag_rgr%which is mentioned on their admit card.

i
No change of Regional Language is alloweic_l during examination. The answer sheet

(OMR Sheet) of the candidate will not be evaluated, if the candidate has attempted

questions of any other Regional Language.

#15332963
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‘ Part vy

Language Competency Tegy (11indi)

! a#. memmw(m-uw@f”%m :

. SR H T A R w2 71 30
(1) %@m@azrl%m 2(2) s s 35 T
& HI
M e @ TR 3EH b A
(10, TETSL Sl H e o wiifey H
(1) T S S0 o @) s v & o
(3 T e o (4) = ad
113, Ffedl P ATH & |
- FHIS T (2) THTS T fehE qm
(3) T-geW H gaEa seht A (@) " figw g
114, Fraferfiaa 0 =g 1 wafra 727 @ uo?
(1) WIH (2) I (N (3) U L@ qm
m .
j AYgawg: M

: B qebe wfECAY w-...-.
@) TR e o @ | (o) e G gy fie # |

16, Fraferfiad § are Wegi % e T A 3 A T 2 - .
D Wmﬁ-w (2) AR H ATEAT T AT - I
JO ﬁasﬁﬁﬁqm_ang%}ﬁm@ﬁ;m/-ﬂiw (4) S AT AT & - FleAd _ -

117, Fafafaa ® ﬂmmgﬁmﬁ?ﬁmﬁ%:

(1) W (2 994 ‘3 9 1 7l

: , g 379G I 8 o)

118, ﬁQﬁfﬁE;H T HA® Eﬁﬁ W\” ~N (3) #:feafa (4) TEg
(1) S @ i‘@f% 3 |
‘ o e Tl TR

19, ‘s g1 o g AfE & - — (3) W 4) fodro
(1) firm-famo 2) i

120, fe % auR W sy TR €

o dg-d9 @ FEoFE ) e -
—_—

1) i - 4
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Part VI )
Language Competency Test (Khasi)

™M
. o H tien ‘Lehroh’.
1, Jied iq ka kyntien kaba fajan ha ka jingmut bad Kkyn 1'0
(1) Mutl()p (20 Lehkjeh ($\ Jaituh 4) Samng
] ™
112, Jied i ka kyntien harum kaba iajan ha ka jingmlg;)ad ka kyr'Ltlen Saja’. .
(1) Pynshitom (2) Jynjar (‘2; Sngewsih 4) Bamja
113. Kap, na kine ki kyntien harum kaba japyrshah ha ka jingmut bad ka kyntien ‘Kynjai’ ?
(1) Bitar ' i (2) Sngewmeng
(3) Ehrang : - (4) Satar
114. Kano na kine ki kyntien harum kaba don ia ka jingspel dak kaba bakla ?
(1) Pynloit - (2) Wallam (3)  iing syiem (4)  Khunlung
115. Kano na kine ki kyntien harum kaba don ia ka ji@spel dak kaba bakla ?
(1) biej (2) ieid @ sdie (4)  thylliej
N
116. Kano na kine ki kyntien harum kaba iapyrshah ggka jingmut bad ka kyntien ‘Atlukhj’ ?
(1) Sbun (2) Jemnud @ Daini (4)  Tipsngi
117. “Ki khynnah ki fasum ha wah”, i
Ka kyntien ‘Yasum’ ka dei ka jait verb aiu ?
(1) Reciprocal verb (2)  Intransitive verb
(3) Causative verb ~ (4) Transitive verb
118. “U briew ba shohg hapdeng surok u iam pangnud ia la ka khun.”

119.

120.

Kdew ia ka adverb ha katei ka senten,

(1) pangnud (2)  hapdeng @ khun - (4) shong
“Sah noh hangne bad ngi”, ?\}

. } 1] & m 4
Ka kyntien ‘hangne’ ha katej ka senten ka dei ka(6it adverb aiu ?
(1) Adverb of Place Adverb of Time

(3) Adverb of Degree @F  Adverb of Manner

K- 'pynleit
D. shong ha kyndOng_

(1) KBAD @ Koap (3) DAKB (4)  ABKD



